SECTION 4: SIGN FACES			NO BID:			
Reflec Series	ctive Sheeting - White (Type ZZ) ASTM Type XI	- Pressu	re Sensit	ive Sign Faces "R" Se	ries, "W" Series, "C"	
NO.	ITEM	иом	QTY	PRICE	EXTENDED PRICE	
1	12" x 18" BLANKS	EA	100	\$ 5.01	\$ 501,00	
2	12" x 18" R7-2A (NO PARKING) Symbol 3 Color	EA	100	\$ 5,15	\$ 515,00	
3	12" x 36" BLANKS	EA	200	\$ 10,02	\$ 2004.00	
4	12" x 42" BLANKS	EA	200	\$ 11,69	\$ 2338,00	
5	18" x 24" Border Faces	EA	1	\$ 10,02	\$ 10,02	
6	18" x 72" BLANKS	EA	100	\$ 30,06	\$ 300600	
7	24" County Route Marker (M1-6)	EA	50	\$ 13,90	\$ 69.5,00	
8	24" x 30" Border Faces	EA	100	\$ 16,70	\$ 1670,00	
9	24" x 48" (BLANKS)	EA	1	\$ 26,72	\$ 26,72	
10	30" x 30" (RLMTR)	EA	50	\$ 20,88	\$ 1044,00	
11	30" x 36" Border Faces	EA	100	\$ 25,05	\$ 2505,00	
12	30" x 36" Regulatory Signs	EA	100	\$ 25,05	\$ 2505,00	
13	36" x 36" Regulatory Signs	EA	300	\$ 30.06	\$ 9018,00	
14	36" x 36" BLANKS	EA	1	\$ 30,06	\$ 30,06	
15	36" x 60" BLANKS	EA	1	\$ 50,10	\$ 5010	
16	36" x 72" BLANKS	EA	1	\$ 60.12	\$ 60,12	
17	48"x 48" BLANKS	EA	1	\$ 53,44	\$ 53,44	
18	30" x 30" (Includes Circles and Octagon)	EA	100	\$ 20,88	\$ 2088,00	
19	36" x 36" (Includes Circles and Octagon)	EA	100	\$ 30,06	\$ 3006,00	
20	24" x 24" (Sign Face 3 or More Colors)	EA	1	\$ 16.00	\$ 16,00	
21	30" x 30" (Sign Face 3 or More Colors)	EA	100	\$ 25,00	\$ 2500,00	
22	36" x 36" (Sign Face 3 or More Colors)	EA	200	\$ 36,00	\$ 7200,00	
23	12" x 24" (M1-51 END 4" Yellow/Blue with Border)	EA	25	\$ 7,20	\$ 252,00	

٦

NO.	ITEM	UOM	QTY	PRICE	EXTENDED PRICE			
24	12" x 24" (M1-51 BEGIN 4" Yellow/Blue with Border)	EA	25	\$ 7,20	\$ 252,00			
25	18" Stop Sign	EA	50	\$ 7,52	\$ 376,00			
26	30" x 36" B/O Detour	EA	1	\$ 28,00	\$ 28,00			
27	48" x 48" B/O Detour	EA	1	\$ 60.00	\$ 60,00			
28	48" x 72" B/O Detour	EA	1	\$ 90,00	\$ 90,00			
Reflec	Reflective Sheeting - Fluorescent (Type ZZ) Yellow Pressure Sensitive ASTM Type XI, Sign Faces "W" Series							
29	12" x 12" W3-3 Signal Ahead Stickers (3 colors) NO BORDER	EA	100	\$ 4,20	\$ 420,00			
30	12" x 36" Object Markers Right / Left	EA	200	\$ 10.02	\$ 2004.00			
31	12" x 36" BLANKS	EA	50	\$ 10,02	\$ 501,00			
32	12" x 42" BLANKS	EA	50	\$ 11.69	\$ 584,50			
33	18" x 24" BLANKS	EA	1	\$ 10.02	\$ 10,02			
34	24" x 24" BLANKS	EA	1	\$ 13,36	\$ 13,36			
35	24" x 30" Chevrons	EA	200	\$ 16770	\$ 3340,00			
36	24" x 48" Double & Single Arrow	EA	20	\$ 26,72	\$ 53440			
37	30" x 36" BLANKS	EA	1	\$ 25,05	\$ 25,05			
38	36" x 36" Border Plates & Warning Signs	EA	300	\$ 30.06	\$ 9018,00			
39	36" x 60" BLANKS	EA	1	\$ 50,10	\$ 50,10			
40	36" x 72" BLANKS	EA	1	\$ 60.12	\$ 60,12			
41	48" x 48" BLANKS	EA	1	\$ 53,44	\$ 53,44			
42	18" x 18" (Includes Circles)	EA	1	\$ 7,52	\$ 7,52			
43	36" x 36 (Sign Faces 3 or more colors) (W3- 5) various Speed Limits	EA	50	\$ 36,00	\$ 1800,00			
44	24" x 24" (Includes Circles)	EA	10	\$ 13,36	\$ 13360			
45	30" x 30" (Includes Circles & Text)	EA	10	\$ 2400	\$ 210,00			
46	36" x 36" (Includes Circles)	EA	10	\$ 30,0G	\$ 300,60			

NO.	ITEM	UOM	QTY		PRICE	EXT	ENDED PRICE
47	12" x 24" W16-7L (Arrow)	EA	25	\$	6.68	\$	167.00
48	12" x 24" W16-9 (Ahead)	EA	25	\$	6,68	\$	167,00
49	30" x 30 (R10-15) Left and Right	EA	25	\$	20,88	\$	522,00
50	36" x 36" (S1-1, S2-1) Series 3983	EA	25	\$	30,06	\$	751.50
51	24" x 48" (S4-100) Series 3983	EA	25	\$	26,72	\$	668,00
52	24" x 36" (S4-102) Series 3983	EA	25	\$	20,04	\$	501,00
53	36" x 36" Series 3983 Bicycle, Ped, Ped Bike	EA	50	\$	30,20	\$	1510,00
53	53 36" x 36" Series 3983 Bicycle, Ped, Ped Bike EA 50 \$ 30,20   SECTION 4 GRAND TOTAL					1510, 55,25	

## **SECTION 8 - BID FORM SIGNATURE PAGE**

The Contractor agrees to provide the service, and/or supplies as described in this solicitation and subject, without limitation, to all specifications, terms, and conditions herein contained. Bidder shall acknowledge receipt of each addendum issued in the space provided on the bid form.

XSignature on file (Bignature and Title)	
CORPORATE SEAL (If available)	
BID MUST BE SIGNED AND NOTARIZED (WITH SEAL) FOR CONSIDERATION	
Subscribed and swom to before me this 30 day of May AD, 20, 23 Signature on file My Commission Expires: 38/28 My Commission Expires: 38/28 	

Finally, the Bidder, if awarded the contract, agrees to do all other things required by the contract documents, and that he will take in full payment therefore the sums set forth in the bidding schedule (subject to unit quantity adjustments based upon actual usage).

## CONTRACT ADMINISTRATION INFORMATION:

CORRESPOND	ENCE TO CONTRACTOR:	REMIT TO CONTRACTOR:		
NAME	D Lightle Entopraces of chamilie	NAME	Lightle Enterprises of Ohlo LLC	
CONTACT	Pebble Over	CONTACT	Heid' Cumpingham	
ADDRESS	P.O. Box 329	ADDRESS	P.O. Box 329	
CITY ST ZIP	Frankfort, OH 45621	CITY ST ZIP	Frankford OH 45625	
ТХ	740-998-5363	ТХ	740-998-5363	
FX	740-998-5364	FX	740-998-5364	
EMAIL	Dovero lightle enterarises com	EMAIL	hownshipping light entoprises, com	
		\$ 		
COUNTY BILL	TO INFORMATION:	COUNTY SHI	P TO INFORMATION:	
DuPage Count	y Division of Transportation	DuPage County Division of Transportation		
Attn: Kathy Bla	ack	Attn: Ed Morgan		
421 North Cour	nty Farm Road	140 North County Farm Road		
Wheaton, IL 60	187	Wheaton, IL 60187		
TX: (630) 407-6	5892	TX: (630) 407-6927		

## ALL MATERIALS MUST BE BID AND SHIPPED F.O.B. DESTINATION, DELIVERED AND INSTALLED

(FREIGHT INCLUDED IN PRICE)